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/ 12 ,Sal.\'cm extraction is un equilibrinm process and is controlled by !

Ihe shoice w hich you think {s corrset,

A1 thar chrete b fhom of thay question enink in the ewer-book.  Cutting or filinp

two or e eireles will msult in_zero mark in that question,
\ solutlon of glucose is 10% w/v. The volume il which 1 g mole of it is dissotved will be 1
(A) Ldm (B) 2W0em’ u«", 10“""" (D) 1.8dm’ .
2| Splitting of spectral Jines when atoms arc subjeCted to strong eleciic fieldiscalled : |
\A) Starkeffect  (B) Zeeman cllect (G} Phofoelectric effset (D) Compton effect

PPressure remaining constunt, wt which temperature the volume nf o gos will become twice of

Wit it is at 0 °C

(A) 546" (B) 200 % () 546K (D) 273K
| Calorie is equivalent o e
[(A) 04184 ) (1) 4,184 ) AC) 41841 (D) 41841
|‘ Which of the ,'\,"..“m.._, hydrogen halides has the highest percentage of ionic chaneler -
[{(A) HF (By HOS & FIRp D) I

——— e — e —— — m

Muss i grams of 2.74 moles of XA,

[(A) 0715 ¢ (B) 14162 Q4329 (1) 294g
| The unit of the rate constant is the same as that of the rate of reaction in ;
(A) Zero Order Reaction (I3) First Order Reaction
() Second Order Reaction (12 Third Order Reaction
| Which of the lnll-n\\'Ain;: has hydrogen bonding :

(A) CH, (B) i, (C) NH; (D) Nacl

| ro WG 0y VIR TS g 2o o ——
An exness of squeous silver nitrate is added 10 aqueous barium chlonde and precipitate in
| removed by filtration. What wre the main ions inthe filtrate -

(A) Ag" und o™ and NiZy (B) Ag” and A (2" only ’

(C) Ba** and NOY only (D) Ba’" and N ), and C1™

; [sotopes differ in = o e 5
| (A) Arrangement of electrons in orbitals (B} Properties which depend upon mass

| (€) Chemical properties a
AD)_The extent 1o which they muy be affected in electromagnetic field l
[ The study of beat changes necompanving a chemical resctions is known us : ,
|

| (A)  Electroctiemistry (B) Physical chemistry
(C) _Analytical chemistry (D) Thermochemistry

}
(A)  Law of mass action B) Distribution law
| (€} The amount of solvent used (D) The amount of solute

13

Suanger the oxidizing agent, greater is the
(&) Oxidation potential _ (B) Reduction potentinl  (C) Redax potential| (D) EMF of eell

|
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The optimum pressure in ammonia synthesis by Haber's Process is :
(A)_100 - 400 atm _(B) 250-400atm () 200- 300 atm (D) 150450 atim

15

Cathode in Nickel Cadmium cell is - |
(A) Zn (B) NiO, ‘C) Cd (D) Ag0

16

3 High vapour pressurcs
___(1%)_Solubility in polar solvents
% .
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4. (i) The radius of an onion is al "é_'l: larger than parent atom. Why?
(ivi How does the equilibrium constant of s reaction tell us the direction of a chemical reaction”
(v) How can NaCLbe purified by commeon ion effect?
(vi) What are pK, and pKy? How do they show the acidic and basic strength?
(vil) What is the function of salt bridge in galvanic cell?
(viil) What is anodized aluminium?
(ix) Caleulate the oxidation state of Mn in  KMnO, and KyMnO,

Note :  Attempt any THR:: El:?:n:.“ L H R G R P'1

foll terms with examples : . : ‘
5. (a) D(iﬂ)ﬁx:d'h‘eﬁv e m mass (ii) Molecu]ar on (i“) lSOtOpe (IV) Molar volume. ‘o‘ :‘ v‘

i i | em’ at 120 °C and
trogen is enclosed in a vessel of volume 380 em” at
i :r:msuftl:co‘f”fl'(‘)il 3285 N;agz. This gas is transferred 0 @ 10 dm’ ﬂ:sk and cooled 1o
27°C, Calculate the pressure in Nm -2 exerted by the gasat 27 °C.

6. (a) Deseribe four properties of the crystalline solids.
(b) What is bomb calorimeter and describe it with the help of d;agfam’l

eCLro 1 in nth o1 :»,»"!'n.
7, (a) Derive the equation to calculate radius of electr indihe bit b
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8 (&) Define stomic orbital hybridization. How can we deseribe the E€0
“ 'NH; on its basis?

(b) Whatis lead accumulator battery? Discuss its disehargit
9. (a) Discuss Raoult's law when one component is volatile o!

‘: |

Scanned with CamScanner


https://v3.camscanner.com/user/download

